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Review
1. Intro. of new dE/dx rec.

f(x) : TrkCorr.

As f(x) is nonlinear, the order of
TrkCorr. really matters.
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Review
1. Intro. of new dE/dx rec.

Incredible diff. of c when cos6 ~0
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Even if we
change binning of
cosO, the diff.
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2.Possible problems

(1) the errorin “truncate & average “ part
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2.Possible problems

(2) loss of info. in sim.
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2. (2) loss of info. in sim.

(a) Samling from a single hist.

> LU Ftoy MC f1dEdx M A B 7 BUMEL(HERR BB, AR E L e s i R —
I FZ )
» Momentum: 0.8GeV/c< p <0.85GeV/c, angle: 0<cosB<0.1
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2. (2) loss of info. ins

(a) Sampling from a single hist.

| dEdx at track level(data) | hData
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2. (2) loss of info. in sim.

(b) Samling from a single hist. (take nhit into account when sampling)
» Momentum: 0.8GeV/c< p < 1.0GeV/c, angle: 0<cos8<0.1

| PDF of usedhit | hMC3_hit
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2. (2) loss of info. in sim.

(b) Sampling from a single hist.(take nhit into account when sampling)
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